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Nusston No 3

Determune the luntion set of the lollowing

inequality







| Total quesions i Xam: 25 | Answered: f

Question No. 9

The range of the functiop flz) =1-

R\ {3

| R\ {3}
R\ {1}
R\ {0}
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| Question No_ 6

et

| Wﬁtemeequaﬁonofthig.pmnbolainvmexfo 1

-

O y=2(x+3)*—-2

Oy=x-3)°-2
y=2(x—3)"—-2

O y=2(x+3)*+2

Save & Next 3, kia

A



[ .

The solution sct
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Question No. 10

The graph of f(x) = 3x? 4 x +41s

Open lefl
Open down
Open right

Open up









I Question No. 23

If £(x)=— 2x then f{x) s

J constant
' increasing
decreasing

not defined
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Question NoO. 25

1,

The range of the relation )
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Total questions in exam: 25 | Answered: 19 - .

Question No. 13

The solution set of Sx=35x=0 1S
.

© {0,5)

“ {0.7})

v {5,-7}

9 {0.5,7)




‘.f(x)::x
lof(x)=8+l6x

O fw)=-2+ 3
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"b ot |
] ,_v,a(, & R and b > 0. The solution of the i

/@ (a-ba)u(ab)
,. (a—b,a)U(a,a+ b)
| @ (=b,a) U (a,a+b)

| . (a—b,a|U(a,b)

m)
" i

iiet"]uality0<|z—-a|<bis







Total questions in exam 25 | Answered: 10

Question No. 22

e function has an nverse i

ts one-{o-one
doesn't satisfy the horizontal line (est

1 1S quadratic

. pu N . - ’
lone of these answers




Total questions in exam: 25 | Answered: 3

Question No. 21

The slope of the horizontal line is

1

-1
Jndefined
0
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Total questions in exam™ 25 | Afswered” 9

Question No. 18

It fix) = 3 and g{x) = 4_.Findthcproductofflﬁr/andg1x/.

x—2 x+3

: 12

(f- 8)x) = -
| x—2 )| x+5)

(- )= —

o x—10
(f- )= ——
3 x —10
(f- g)x)= :
| X—2Z N x+-5)
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| Lotac '\(1,. Find the walue of a wuchs that the Graertinest o dhvidding
' Jx) =274 (1 a)e” 4 o% ' by 26 v 24 ¥ |2




Total questions in exam 25 | Answered” 10

Question No. 23
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Total questions in exam 25 | Answered

Question No. 3

e function has an inverse i

ts one-{o-one

doesn't satisfy the horizontal line (est

it 1S quadratic

None of these answers

10






Question Na =

Suppose a ¢ R Give the value of such that the equation 12z + 3| = |z + a| has one solution.
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Question No. 13

-y —

.

Give the ggintercept of the line y<=6x - 12
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QUE™an No. 11

I he solution set




Total questions in exam' 25 | Answered” 10

Question No. 29

Which of the following represent x < —5o0rx > 1




= ; d_ 3
a1 ~g!=lu”; x.;‘ mAus
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& A" - 5
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@ every horizontal line intersects the graph at most once.
1@ every horizontal line intersects the graph twice

© every vertical line intersects the graph at most once

© every vertical line intersects the graph twice
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G | "
aventhat f(x) = Sx®* + x* + v 4 2 . then one of the following is a factor of f(x)
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Question No. 22

3x*+ 10x + 6.I‘indh(xi = fx)—glx).

If fix)= "5+ 5x+ 3 and g(x) -

@ px)=-23+5x+1
@ hx)=-23+5x+3
h(x)=2x*—-5x-3

h{x)=2x*-5x +1
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Whichis the equationfor this graph?
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Question No. 14

Let a € R. Give the condition on a that makes the relation F — {(—1,1),(2, 1), (a. 3), (—2, a)} a funetion.

i
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The solution sct













Question No. 2

If f(x)=(x~1) then f(a’)=

(
’ v a‘#a#Z

" 3a’ 4+ 2a-1

a + 2la-|

5

-
a 2a +)
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@ One x-intercept
O Two x-intercepts
No x-intercept

Nine x-intercepts
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@ f(x)—x
O_/'(.r) 2x+5
O/(-’) v8l—x~

@ f(x)
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| a') Oaand i (z) e (a —9)z2+z —a. Give the value of a such that f(z) is a one-to-one function.




llahncboa/(x)lluuu\uxﬁm:a:nd/( 2) “.lbcu
® ran-
F (b 2



(—o, —1)

(1,3)
(3,@)) U (_ 2,__1)
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'. Which of the following Is a pair of inverse functions?
l

- where = € R.

) =k l, where © € R.

3. where T € ‘()q"x')~

@' f(x) ==z, where T € R. and g(x) = -

® flzr)=2x- 1, where T € R, and g(x

@ f(xz) = V3 + x, where T € [-3, 00), and g(z) =
@ f(=x): NE T 7. where T € [—3,00), and g(x) = 2 4 3, where T € 10, 00).




Let [ be the one-o-one function defined by this set of ordered pairs {(-3,2), (4,5),(7,4)( 10.19)}.
Then f *(5)
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Question No. 24

| Find f(x) - g(x) , if f(x)

'C)8x3-sx-4
.
Y 8x?-5x44
4x
0 8x-§
4 -x

¥ Bx?-5y-g
4x
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o

| Solve this rational inequallit‘y

O (—%,1) U (3,00)
© (—,—3] U (1,0)
O (—0,-3)u (1,00)
- (+3.1)

=




